
https://www.geekcert.com/300-208.html
2021 Latest geekcert 300-208 PDF and VCE dumps Download

 

 

 

300-208Q&As

Implementing Cisco Secure Access Solutions

Pass Cisco 300-208 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/300-208.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

300-208 PDF Dumps | 300-208 VCE Dumps | 300-208 Study Guide                                1 / 8

https://www.geekcert.com/300-208.html
https://www.geekcert.com/300-208.html
https://www.geekcert.com/300-208.html


https://www.geekcert.com/300-208.html
2021 Latest geekcert 300-208 PDF and VCE dumps Download

QUESTION 1

Hotspot Question 

In this simulation, you are task to examine the various authentication events using the ISE GUI. For example, you
should see events like Authentication succeeded. Authentication failed and etc... 
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Which two statements are correct regarding the event that occurred at 2014-05-07 00:16:55.393? (Choose two.) 

A. The failure reason was user entered the wrong username. 
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B. The supplicant used the PAP authentication method. 

C. The username entered was it1. 

D. The user was authenticated against the Active Directory then also against the ISE interal user database and both
fails. 

E. The NAS switch port where the user connected to has a MAC address of 44:03:A7:62:41:7F 

F. The user is being authenticated using 802.1X. 

G. The user failed the MAB. 

H. The supplicant stopped responding to ISE which caused the failure. 

Correct Answer: CF 

Event Details: 
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QUESTION 2

Which three are required steps to enable SXP on a Cisco ASA? (Choose three). 

A. configure AAA authentication 

B. configure password 

C. issue the aaa authorization command aaa-server group command 

D. configure a peer 

E. configure TACACS 

F. issue the cts sxp enable command 

Correct Answer: BDF 

 

QUESTION 3

which is the default behavior of 802.1x 

A. monitor-mode 

B. bypass-mode 

C. close-mode 

D. low impact-mode 

Correct Answer: C 

 

QUESTION 4

In AAA, what function does authentication perform? 

A. It identifies the actions that the user can perform on the device. 

B. It identifies the user who is trying to access a device. 

C. It identifies the actions that a user has previously taken. 

D. It identifies what the user can access. 

Correct Answer: B 

 

QUESTION 5

Which statement about a distributed Cisco ISE deployment is true? 
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A. It can support up to two monitoring Cisco ISE nodes for high availability. 

B. It can support up to three load-balanced Administration ISE nodes. 

C. Policy Service ISE nodes can be configured in a redundant failover configuration. 

D. The Active Directory servers of Cisco ISE can be configured in a load-balanced configuration. 

Correct Answer: A 
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